4.4 f(x) and f(x)

DO NOW: Sketch a smooth curve y=f(x) through the
origin with the properties that £*(x)<0 for x<0 and f’(x)>0
for x>0.

{(v<0) decversin 9

((x >O)f \Wﬁi@f{ﬂg

Match the graph of f(x) to the graph of ’(x)
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X

{C1)=0 ((n- - {(0) -+
88. The graph of a twice-differentiable function f is shown in the figure above. Which of the following is true?
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Group 1: Using the graph of f’(x) given at right, identify 6+
(a) all critical points of f(x), 4l
(b) The x-values where f(x) is increasing

(c) The x-values where f(x) is decreasing 2+
(d) The x-values where f(x) has a local maximum, - R .
(e) The x-values where f(x) has a local minimum 2

and explain how you know.
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Group 2: Using the graph of f'(x) given at right, identify

(a) all critical points of f(x),

(b) The x-values where f(x) is increasing

(c) The x-values where f(x) is decreasing

(d) The x-values where f(x)

(e) The x-values where f(x) has a local minimum
and explain how you know
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Practice: Use the First Derivative Test to identify any local extremes. Then identify the intervals

of increasing and decreasing.
f(x)=4x>+21x*+36x-20
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MC Practice:

Given the graph of f(x) below, which of the following is true.

(-2,2)

a. £(-3)<f(0)<f(3)
b. P(3)<P(0)<f(3)
c. PO)<P(-3)<f(3)

@) £(3)<f(-3)<f(0)
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‘Homework

HWK 1: Using the graph of f’
(a) all critical points of f(x)

(x) given at right, identify
(b) The x-values where f(x) is increasing

(c) The X-values where f(x) is decreasing E
(d) The x-values where f(x) has a local maximum,

(e) The x-values where f(x) has a local minimum
and explain how you know.

Q) P alx=+3,2, 5 blc €(k)z0 or DVE
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HWK 2: Using the graph of f’(x) given at right, identify

(a) all critical points of f(x),

(b) The x-values where f(x) is increasing i
(c) The x-values where f(x) is decreasing TR R

+
o (d) The x-values where f(x) has a local maximum, i i j
(e) The x-values where f(x) has a local minimum 1
and explain how you know. - - i
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! Use the First Derivative Test to identify any local extremes. Then identify the intervals of
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